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040 100 121.5 ] B0 18{19) 60 43 il 75 /5 T0 78 &0 7.5 40
050 | 120 | 144 | 80 | 70 | 250 | 70 | 49 | 85 | 8 | 435 | 8 | w | e | s | &
083 | 14 | 174 | 100 | 85 | 25(28) | B0 | 67 | 103 | 95 | 53 | 85 | M2 | T2 | 102 | 63
075 172 205 120 90 28(3%) 95 72 112 115 57 1125 120 86 118 75
080 206 238 140 100 35(38) 110 T4 130 130 87 | 1285 140 103 138 g0
110 255 295 170 115 42 130 - 144 165 T4 160 155 127.5 167.5 10
130 203 335 200 120 45 180 - 155 M5 81 | 179 170 148.5 187.5 130
150 340 400 240 145 50 180 - 135 215 9% @ 210 200 170 230 150
NMRW P Q R 5 T 1) PE b t o Kg.
030 Fi ] 44 6.5 21 55 27 Méx11({nmd) ] 163 0 1.2
040 87 55 6.5 26 65 38 MBx8(nad) 8 20.8(21.8) 45 2.3
050 100 64 2.5 30 7 40 Max10({n=4) 8 28.3(27.3) 45 38
083 110 80 35 38 8 S0 Max14(n=8) 8 28.3031.%) 45" 6.2
BLLZE L T L . 0| 60 | MBx14(n=3) | 8(10) | 31.3(38.3) | 45 | L
0% | 160 | 102 | 13 45 11 L3 MiOxigin=8) = 10 | 383(41%) | 46 | 13
110 200 126 14 50 14 85 M10x18(n=3) 12 45.3 45" 42,5
130 250 140 16 60 15 100 M12x21(n=8) 14 48.8 46 59
150 250 180 18 725 18 120 M12x21(n=8) | 14 53.8 45" 87
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030 8O a7 54 &4 14 8 55 | §2 856 i) 28 Ll 20 63 40 57 0 75
040 100 | 121.5 70 [:11] 13190 N 60 (43 T 75 36.5 80 23 T8 a0 715 40 | &7
050 | 120 | 144 | 80 | 70 | 25(24) | 14 | 70 |49 | 85 | 85 | 435 | 74 |30 | 92 | 60 | %4 | 50 | 100
063 | 144 | 174 | 100 | 85 | 25(28) 19 | 80 |67 103 95 | 5% | 90 |40 112 72 | 102 | 8% 110
075 | 172 | 205 | 120 | 90 | 28(35) 24 | 95 |72 112 115 | 57 | 105 |50 120 | 86 | 119 | 75 140
080 | 206 | 2388 | 140 | 100 | 35(38) 24 | 110 |74 130 130 | 67 | 125 | 50 140 | 105 | 135 | 80 160
110 255 | 205 | 170 | 115 | d2 | 28 180 | - 144 165 | 74 | 142 | 60 155 | 1275 | 1675 | 110 @ 200
180 | 208 | 335 | 200 | 120 | 45 | 30 180 | - 155 215 | &1 | 162 | &0 | 170 | 1465 | 1875 | 130 @ 250
150 | 340 | 400 | 240 | 145 | 50 | 85 | 180 | - 185 215 | 96 | 195 | &0 200 | 170 | 280 | 150 @ 250
NRW . 0 R § T |V PE b | bi t ti m a | K
030 44 65 2 | 55 | 27 | Méxii(ned) 5 | 8 16.3 102 | - v | 12
040 55 | 85 | 2 | 65 35 | Mxb(ned) | B | 4 | 203218 | 125 | - | 4 | 23
050 84 85 | 30 | 7 | 40 | MSxiOned) = B | 5 | 283(278) | 160 | M | 45 | 338
063 | 80 | 85 | 36 | 8 | 50  MBxld(ne8) B | 6 | 283(313) | 215 | M6 | 45 | 62
075 88 | 11 | 40 | 10 | 60 | MBxM(ne3) | 8(10) 8 | 811388 | 270 | Mg | 45 | 9
060 | 102 | 13 | 45 | 11 | 70 | Mioxised) | 10 | 8 | $83(1Y) | 270 | M3 | 45 | 13
10 0 125 | 14 | 50 | 14 | 85 | Mioxamsd) | 12 | 8 453 3.0 | M0 | 45 | 425
15 140 16 | B0 | 15 | 100 | Mi2Zi(nsd) 14 | 8 488 380 | MO | 45 | 59
150 180 18 | 725 | 18 | 120 | M122i() | 14 | 10 55.8 8 | M2 | 4 | ¥
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030 040 050 083 075 090 110 130 150
PA 545 67 90 82 111 111 139 152 155
PB 8 7 9 10 18 13 15 15 15
| PG 4 4 & B B [i] 6 [ [:]
PN 50 60 70 116 130 162 170 180 180
FA | PM 63 76 85 150 165 175 230 265 256
PO | 8.5(n=4) gn=4) | 11(n=4) 11(n=4) 14(n=4) 14(n=4) 14(n=8) 16(n=8) 16(n=8)
PP 80 110 125 180 200 210 280 320 320
PO 70 95 110 142 170 200 260 290 290
i al 45" 45 45 45 45" 45 45 45 2.5
PA - o7 120 112 - 122 - - -
PB - 7 9 10 - 18 - - -
PC - 4 5 8 - 6 - - -
PN - 60 70 115 - 180 - - =
FE | PM - 76 86 150 - 216 - = -
PO - 9(n=4) 11(n=4) | 11(n=4) = 14(n=4) - - -
PP - 110 125 180 - 250 - - -
PQ - 95 110 142 - - - - -
Cad - 45 I 45 I - -
PA - 80 89 98 - 110 - - -
PB - 9 10 10 - 17 - - -
PC - 5 5 5 - 6 - - -
e PN - 95 110 130 - 150 - - -
PM = 115 130 185 - 165 - - =
PN - G Rinmd) G Rlnmdy 11 nmdy - 11inmdl - - -
PP - 140 160 200 - 200 - - -
| al - 45 45 45 - 45 - - -
| PA - 54 T2 107 - 151 - - -
P = 12 145 10 - 13 - - =
FC - 5 5 5 - 6 - - -
B PN - 80 95 130 = 152 - - -
| PM - 100 115 185 - 175 = - -
PO - 9(n=4) 11(n=4) | 11(n=4) - 14(n=4) - - -
PP - 120 140 200 - 210 - - -
| ad = 45 45 45 - 45 - -
PA - - - 805 - - - -
P - - = 16.5 - - - - -
PC - - - 5 - = - = =
PN - - - 110 - ~ - = =
T - = - 130 - - - - -
PO = o - 11(nmd) - - - - -
PP ) - - 160 - = - . =
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